PHILLIPS (125-160 letters)

Starting with a basic 5x5 Polybius square (#1 below), the first row is shifted down
one row at a time form squares #2, 3, 4 and 5. Row two is then shifted down a row
at a time to form squares #6, 7 and 8. Each square is used in turn to encipher 5
plaintext letters. Each plaintext letter is enciphered by taking as substitute the letter
diagonally down to the right using the proper square. A plaintext letter in the fifth
column is replaced by the letter from the first column and the row below it; a plaintext
letter in the fifth row is replaced by the letter in the first row and to its right.

pt: Squares one and five are actually the same as are squares two
and eight. The overall period is forty.

Key: DIAGONALS

1 DIAGO 2 CBSLN 2 CBSLN 2 CBSLN
2 CBSLN 1 DIAGO 3 EFHKM 3 EFHKM
3 EFHKM 3 EFHKM 1 DIAGO 4 UTRAQP
4 UTRAQP 4 UTRQP 4 UTRAQP 1 DIAGO
5 VWXYZ 5 VWXYZ 5 VWXYZ 5 VWXYZ
#1 #2 #3 #4
2 CBSLN 3 EFHKM 3 EFHKM 3 EFHKM
3 EFHKM 2 CBSLN 4 UTRQP 4 UTRQP
4 UTRAQP 4 UTRAQP 2 CBSLN 5 VWXYZ
5 VWXYZ 5 VWXYZ 5 VWXYZ 2 CBSLN
1 DIAGO 1 DIAGO 1 DIAGO 1 DIAGO
#5 #6 #7 #8
SQ #1 #2 #3 #4 #5 #6
ptsquar esone andfi veare actua 11yth
CTKZWLY TGEDT QETAR BTYGT LFXWL PPOXL
SQ #7 #8 #1 #2 #3 #4
ptesame asare squar estwo andei ghtth
CTTYKUT KGKYT KZWLY TGXSE QETIR ZQAANQ
SQ #5 #6 #7 #8 #1
pteover allpe riodi sfort vy
CTTCITY KPPVB LHEFH GREYX 0
CT:

KZWLY TGEDT QETAR BTYGT LFXWL PPOXL TYKUT KGKYT KZWLY TGXSE QETIR
ZQAAQ TCITY KPPVB LHEFH GREYX 0.
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